/

SIATY RET/3/S_ 17 D7zers y Sezrvon oz  Oci 2072 /Z

@) - X=0 /5 ThE Onry L2 _wiass At O 7z Fpmzy OLX <00, fda— ORDImvAcy

PorniZ

T CUIBS I7E/cATJoy O F X=07

,Z/m; x f-(i- x)x]~..,4.,=',5(,o Lom 21 L =g, <0 =P X=0 /5 4 ArFae SP_

~—3xz 37 x>0 xz 2

2 = =T
INDICI#2 £ Zg(f/—— Xﬂ X(//—/—-—é'—-ﬁ 4..)(=2> f‘[r;)-—l;ry/-rz 4;—-_;/../,- /}/,-_[) =5

() Swex x=) /s v oemnter Boms e PR x/(x)_.- f a,, (X—— H"

=0

S TUS CLOSTSr SrWEclAl Pownd [§ £7 XSO0 Tuts Nfynrmsgi: ot e
OF ConvaXsaN'es 15 P =/
23 o0 o/ -
/ T L
(C) Somca X=0 15 £ RGP wr g5surts glo=Z a, (y"f_{ @, (i)™ L E g tinar o
' 710 = V\. =G -
£y= 2X 4 - X// X 74 ‘
N et | 2 779
534 (+r )= X -,é G, X" +Zd Lrr2r) X +Z QX =o0
=0 N=0o nzo h=p
=1 m=n m =ypi =rh-/ m=r
oo n=0 @ m=/

Y7L

= Zf[ﬁ’d (mpr)lmeiret) — Q,, (Wipr) 4 d,,,]x"’" + Z @y, (m#/‘»/))(

= Z.?f'/f /) - 7"+/;£20X + zzf[‘?(mff)/mfﬁl) Ortr)+1] By + (M40) @y, ;Xm*/—

'/]:-'[

TJ Qo[37’ 45 A1 = Ay (Br-I)(re) =0 r=/ e

X" nzt) f (a1 [ 2bne7) - M 1] am = - (m,u-—/)am ,

Y=77 Qm = - -1 = —m?m-/

(rr#0) (3m-Y)#/ P (31172)

Q= —ds f5 a,== /0 = %, Q3= =22 f))=—8b /440
N df))(/[/ — X+ X400 — Xypppind
=% Am = = (M-24) Bm=l_= (M%)l = ~$(302) Aoy = = dm_,
O+ 8){3m#i-8}41 (3 pdim-i)+r  GotzIm Im
a2cle 4--0. gm-ao -
3 & 8 7 /62

*

L YY) = a, X"[//x,,u( — x4 ]

3 /8 /52 -




UL, 0) =

La7 Utz Kod Ter)

=P TU)Xix) = X 6o 708)

T = X0k = — A2

74¢) X 6¢)

A
— - . - ~ATE
7/ T =27 =0 T)= De A

T Mo: X HA*E =0 | X0z A coshe +8sinix

(o) = 0=X(7)| K= -ANSindy 4 Ed oy

\ AFo — } -
X(0) = BN =0 =P =0 R (T)=-M\SinAT=0 = J7r= ni n=/a.

n M= v n=g2. X, 0= coslnx)

A=o: XY 0 o> Y= hx+8 FX'=A Xlo)hA=o > X =£8)

] A=o X (=1

T B SOLulion 8 OF /,54; Fokrs .,

— 7%

Lit)= dp + Z a, C Cosihx)

=/

7

P

X= Ulxo)= Qb+ ZF 4, Cos(nx)
i’ =7

2

2, [/ 2 7/_..
l,= 2 J Xdxn =2 x2)7 - 7
7 © 7 2 °
7
Ay = % {{X Cofé’l)()da’, Z/ .5//1[7)«\’)7{: / f/ 5'2/157%)%76;
n
o r : 7_'\
A n —
T I EES S T
77 = /72 J Z. o N even

S Wixg)e T4z e 1) & casém

Cos(@ksr)x)




